1) According to *"wn, why is there a 2y to do yn»n np>72?
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2) mooin ask a question, based on the fact that y»i np>72 alone is not enough. Explain what else

we must do?

3) Explain the question of mson?

4) According to the >"9, from where does the 2y of y»n np>72 come, and what is the reason for

it?
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6) What do these things have in common? )

7) mooin then negate, that if this is the reason (#4) why we must destroy the ynr, we should also

have to destroy

8) According to the answer of nwoin, explain why must we do np>72 and 71w°2?

9) Why don’t we have to destroy 27377 *X?5 ,77y ,2%72 w2a?

10) (m»oin then addresses 7°11. What does the &"wAin ask on this?

11) How does the x"w"mn answer this?

12) Why don’t we have to destroy something which is 710X because of a 171?

13) mooin give a second reason why we only need to destroy y»n (and not the other things that

are nRI72 70K)?




14) How does the 3"2 answer for the opinion of *"wn?
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